= KHT

=KEERXEE
[&KiZKE]

Baith(En1)

BRRKER

0.5m*k i

0.5~1.0mK#

1.0~2.0m3

2.0~3.0m*%H

3.0~5.0m*%H

D somse

1:5,000

—o

100 200m

AREES SLiEFE. £7945




= KHT

=KEERXEE
(HITHEE]

Baith(En1)

BASITEH

53E 5

FATke

1:5,000

S idises

- S 7 3
b e ST '
", S T s

—o

100 200m

AREES SLiEFE. £7945




=7KHT
RKEERXEE
[EKiRE]

Baith(En1)

RKFE

0.00m/s~

1.00m/s~

3.00m/s~

5.00m/s~

9.00m/s~

12.00m/s~

1:5,000

0 100 200m

AREES SLiEFE. £7945



= KHT

=KEERXEE
(K BIERFRE )

Baith(En1)

HOKEERR

05~

153~

294~

353~

55~

65y~

1:5,000

PRk
/, ¥ P25 Py
ST |
SR @“”"“ﬂﬁ-m—,—h.,
o > Ladal.]

HTi T
T Tiig

0 100 200m

AREES SLiEFE. £7945




